sfngEE [ 1A REXERFER [HTH] ]

F/RHPZR TEL 283—0065

B | ® IR i EE 4 5 6 | P
1 X |xB
2 | K
3 | £
4 | x
5 =]
6 | A
PRESOERER
7 | &
SFMER. SRES(1R)  2B%E (REVEN. BXHOERS) | |
8 | JK |FAIL—HRREE < 1)
3
F2RIBHH—T A 1-2FEFEATRE 1
9 | K [*/5LwrBED 2 B 1145
3
BA—BARRGBF4E 255 1560R) 1
10 | £ |Z8% 2
3
1| £
12 | B
BRADH
13 | A
EESHE (RYNR—LEHER) 1 P& X2 X3 X4 B3 B4
14 | w 2 1 kT X2 k3 P EG E‘ .........
3K N2 X3 X4 3 4
1] K1 k2 k3 K4 — —
15 | K |ZRSv2 (BYK—LI10HER) 2 1K1 K2 K3 K4 = —
3 K1 k2 7k3 K4 — —
BEFTA 1 x5 X6 £6 X1 X2
16 | K |#55IEHE] 24GTEC(1 ~3R) 2 | M5 N6 €6 A1 A2
* /Ly EBEQ 3 X5 N6 %6 K1 X2
EIEEFTRE 1] #1 £2 &3 £4 k5
17 | & 2 | &1 %2 %3 %4 K5
3| #1 &2 %3 &4 k5
EBEAR(BEE)
18 | £
HERBAR MR
19 =]
2 | A TERG B SEE (2—2-3KF 3.AREEE) ; A Flg A3 Flj ES
_ B0 £ 2 -
ERER 1 X1 X2 X3 x4 &5
21 | K NERROBEETEX(6MR) 2 | &1 X2 X3 x4 £5
3| 44 X2 X3 x4 ®5
EEBHBEES (2—1 3.4BREER) 1] K1 k2 K3 k4 K5 —
22 | K 2 K1 k2 K3 K4 K5 =
3 K1 k2 K3 K4 K5 —
EHTX 1 A1 X2 A3 X4 A5 X6
23 | K 2 | K1 A2 A3 A4 A5 A6
3 X1 X2 K3 x4 X5 X6
EIEEERTE 1. =1 &2 3 &4 A5 A6
24 | & 2.2 £2 23 £4 A5 K6
3| #1 &2 ®3 %4 A5 A6
25 | &
26 | B
ARYIRY (RYR—LEHRER) 1 7K1 K2 K3 K4 K5 A4
27 | B | AL ZHRREREER N 2 . 2K] K2 K3 K4 K5 b, N
i} _ _ 3 | K1 K2 JK3 K4 K5 A4
2EREFERHPAR(15:30~16:308 &) 1 X1 X2 X3 x4 X5 X6
28 | K | */SLyREER 2 [ 41 X2 P] P x5 X6
3 UA N2 N3 K4 N5 k6
1 X1 N2 A3 x4 X5 A6
29 | K 2 | K1 A2 A3 A4 A5 A6
3 X1 X2 K3 x4 X5 X6
SEFMISRALASAIEE 3 4R (AATR) 1 A3 H4 A5 H6 A1 H2 . ~ .
0 | K |BEKGHANE (2—2-38F 1, 2REHD) 2 B3 [ R4 [TAS [TRe [THT [ Ha |ME SFEOA 11:40 ~ 1218
3| HS A4 A5 A6 — — : :
SEFMIERAR 1 53 I I %6 —
31 £ |28 ER(9:30) AL A hERE 2 ST £6 —
TEBEACESNL(SFZHN %) 3 I SHA —




